C:h Rotating Around Axis Name:

Rotate each shape. Answer asthe new coordinates. Answers
/ _ 1. x1=1xcos(60) - 4xsi n(6cm
0 = Angle of Rotation y1 = 1xsin(60) + 4xcos(60) .
. N * 2. x1 = 1x0.5 - 4x0.87 '
Rotation Formula _‘/ < y1 = 1x0.87 + 4x05
X1 = xxcos(0) - yxsin(®) \ 3, x1=05-3.48 2
y1 = xxsin(8) + yxcos(0) : : y1= 087 +2
In the example to the right the - - 4. x1 =_'2-98 3
shapeis at coordinates (1,4). P - YA=aEy
Lets find the coordinates if we 5. Looking at shape, we can see
rotated the shape 60°. that rotated 60° it isat (-2.98 , 4,

\_ 2.87). )

1) Rotate the shape 231° around the point 2) Rotate the shape -205° around the point
(0.0). (0,0).

3) Rotate the shape -134° around thepoint ~ 4)  Rotate the shape -224° around the point
(0.0). (0,0).
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ﬂh Rotating Around Axis

Name. Answer Key

Rotate each shape. Answer asthe new coordinates.

-

0 = Angle of Rotation

Rotation Formula */ *
x1 = xxcog(B) - yxsin(8)
y1 =xxsin(8) + yxcos(0) |

In the exampleto theright the g 7
shapeis at coordinates (1,4). > _r
Letsfind the coordinates if we
rotated the shape 60°.
\_

4,

5.

x1 = 1xc0s(60) - 4xsin(60) \
y1 = 1xsin(60) + 4xcos(60)
x1=1x0.5 - 4x0.87
y1=1x0.87 + 4%0.5
x1=0.5-3.48
yl1=0.87+2
x1=-2.98
yl=2.87
Looking at shape, we can see
that rotated 60° it isat (-2.98 ,

2.87). )

1) Rotate the shape 231° around the point 2) Rotate the shape -205° around the point

(0,0). (0,0).

(31'6)

(-

;'@

3) Rotate the shape -134° around thepoint ~ 4)  Rotate the shape -224° around the point

=

N

>

Answers

(-6.6,-1.4)

(8.4,-3.8)

(3.7)

(5.7,-0.1)

(0,0). (0,0).
""""" Q.
(-A-Ayr-
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b
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C:h Rotating Around Axis Name:

Rotate each shape. Answer asthe new coordinates. Answers
/ _ 1. x1=1xcos(60) - 4xsi n(6cm
0 = Angle of Rotation y1 = 1xsin(60) + 4xcos(60) .
. N * 2. x1 = 1x0.5 - 4x0.87 '
Rotation Formula _‘/ < y1 = 1x0.87 + 4x05
X1 = xxcos(0) - yxsin(®) \ 3, x1=05-3.48 2
y1 = xxsin(8) + yxcos(0) : : y1= 087 +2
In the example to the right the - - 4. x1 =_'2-98 3
shapeis at coordinates (1,4). P - YA=aEy
Lets find the coordinates if we 5. Looking at shape, we can see
rotated the shape 60°. that rotated 60° it isat (-2.98 , 4,

\_ 2.87). )

1) Rotate the shape 76° around the point 2) Rotate the shape 192° around the point
(0.0). (0,0).

3) Rotate the shape 290° around the point 4) Rotate the shape -62° around the point
(0.0). (0,0).
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ﬂh Rotating Around Axis Name. Answer Key

Rotate each shape. Answer asthe new coordinates. Answers
/ 1. x1=1xcos(60) - 4xsi n(GCm
= Angle of Rotati e
6= Angle of Rotation y1= 1xsin(60) + 4xcos60) Il | (2.7,-6.6)
. . * 2. x1=1x0.5 - 4x0.87
lRotatloneFormu_Iae _‘, i y1 = 1x0.87 + 4x05
= XX -VyX
e ;(x;(r)\?(e))+ yxfons((e)) ' \ 3. X1=0.5-3.48 2. (-1.8-3.7)
a J : - yl=0.87+2
In the example to the right the AN - 4. x1 =_'2'98 3. (-1.3,-0.6)
shapeis at coordinates (1,4). P - YA=aEy
Lets find the coordinates if we 5. Looking at shape, we can see
rotated the shape 60°. that rotated 60° it isat (-2.98, || 2. (1.2,-4.1)

\_ 2.87). )

1) Rotate the shape 76° around the point 2) Rotate the shape 192° around the point
(0.0). (0,0).

(1-4)

3) Rotate the shape 290° around the point 4) Rotate the shape -62° around the point
(0.0). (0,0).

1)

e
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C:h Rotating Around Axis Name:

Rotate each shape. Answer asthe new coordinates.

\_ 2.87).

/ 1. x1=1xcos(60) - 4xsi n(6cm
6 = Angle of Rotation y1 = 1xsin(60) + 4xcos(60)
. [ [ ]. * 2. x1=1x0.5 - 4x0.87
Rotation Formula _“ N y1l = 1x0.87 + 4x0.5
x1 = xxcos(B) - yxsin(8) 3 3 x1 =05 - 3.48
y1 = xxsin(@) + yxcos(8) ; : ' y1=087+2
In the example to the right the ~ 7 4 x1=-2.98
shapeisat coordinates (1,4). S I o S ZET
Lets find the coordinates if we 5. Looking at shape, we can see
rotated the shape 60°. that rotated 60° it isat (-2.98 ,

J

Answers

1) Rotate the shape-230° around the point ~ 2)  Rotate the shape 149° around the point
(0.0). (0,0).

3) Rotate the shape -184° around thepoint  4) Rotate the shape 216° around the point
(0.0). (0,0).
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ﬂh Rotating Around Axis Name. Answer Key

Rotate each shape. Answer asthe new coordinates. Answers
/ _ 1. x1=1xcos(60) - 4xsi n(GCm
0 = Angle of Raotation y1 = 1xsin(60) + 4xcos(60) L (_ 1.- 43)
_ Tl 2. x1=1x05-4x0.87 ' :
FjOtat'O”eFor il o ] s yl=1x0.87 + 4x0.5
Xll:;(:;?\?(e)); V:SO”S((G)) ’ \ 3, x1=05-348 2. (0.2,3.6)
Y=< y ; : y1=0.87+2
In the example to the right the AN , 4. x1 =_'2'98 3. (-3.6,-6.3)
shapeis at coordinates (1,4). NN EP _ yl=287
Lets find the coordinates if we 5. Looking at shape, we can see
rotated the shape 60°. that rotated 60° itisat (-2.98, [[| 4. (7.8,0.5)
\_ 2.87). )
1) Rotate the shape-230° around the point ~ 2)  Rotate the shape 149° around the point
(0.0). (0,0).
T (4-2) L
2B
‘x\@ . CIS R
3) Rotate the shape -184° around thepoint  4) Rotate the shape 216° around the point
(0.0). (0,0).
SIS S - (4,-6) NIDEC A
] 0l 1
3
[/ ~
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C:h Rotating Around Axis Name:

Rotate each shape. Answer asthe new coordinates.

\_ 2.87).

/ 1. x1=1xcos(60) - 4xsi n(6cm
6 = Angle of Rotation y1 = 1xsin(60) + 4xcos(60)
. [ [ ]. * 2. x1=1x0.5 - 4x0.87
Rotation Formula _“ N y1l = 1x0.87 + 4x0.5
x1 = xxcos(B) - yxsin(8) 3 3 x1 =05 - 3.48
y1 = xxsin(@) + yxcos(8) ; : ' y1=087+2
In the example to the right the ~ 7 4 x1=-2.98
shapeisat coordinates (1,4). S I o S ZET
Lets find the coordinates if we 5. Looking at shape, we can see
rotated the shape 60°. that rotated 60° it isat (-2.98 ,

J

Answers

1) Rotate the shape 203° around the point 2) Rotate the shape -120° around the point
(0.0). (0,0).

3) Rotate the shape 183° around the point 4) Rotate the shape -35° around the point
(0.0). (0,0).
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ﬂh Rotating Around Axis

Name:

Answer Key

Rotate each shape. Answer asthe new coordinates.

-

0 = Angle of Rotation

Rotation Formula */ *
x1 = xxcog(B) - yxsin(8)
y1 =xxsin(8) + yxcos(0) |

In the exampleto theright the g 7
shapeis at coordinates (1,4). > _r
Letsfind the coordinates if we
rotated the shape 60°.
\_

4,

5

. Looking at shape, we can see
that rotated 60° it isat (-2.98 ,

J

x1 = 1xc0s(60) - 4xsin(60) \
y1 = 1xsin(60) + 4xcos(60)
x1 = 1x0.5 - 4x0.87
y1=1x0.87 + 4%0.5

x1=0.5-3.48

yl1=0.87+2
x1=-2.98
yl=2.87

2.

87).

1) Rotate the shape 203° around the point 2) Rotate the shape -120° around the point

(0,0). (0,0).

SR

(1-1)
I

3) Rotate the shape 183° around the point 4) Rotate the shape -35° around the point

(0,0). (0,0).
A9 A

=

N

w

>

Answers

(4.7,-4.2)

(-1.4,0.4)

(1.3,4.9)

(6.1,-1.8)
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ﬂh Rotating Around Axis Name:

Rotate each shape. Answer asthe new coordinates.

/ 1. x1=1xcos(60) - 4xsi n(GCm
0 = Angle of Rotation y1 = 1xsin(60) + 4xcos(60)
. [ [ ]. * 2. x1=1x0.5 - 4x0.87
Rotation Formula _“ N y1l = 1x0.87 + 4x0.5
x1 = xxcos(B) - yxsin(8) 3 3 x1 =05 - 3.48
y1 = xxsin(@) + yxcos(8) ; : ' y1=087+2
In the example to the right the ~ . 4 x1=-2.98
shapeisat coordinates (1,4). S I o S ZET
Lets find the coordinates if we 5. Looking at shape, we can see
rotated the shape 60°. that rotated 60° it isat (-2.98 ,

Answers

\_ 2.87). )

1) Rotate the shape-154° around the point ~ 2)  Rotate the shape 182° around the point
(0.0). (0,0).

3) Rotate the shape 204° around the point 4) Rotate the shape -127° around the point
(0.0). (0,0).
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ﬂh Rotating Around Axis

Name:. Answer Key

Rotate each shape. Answer asthe new coordinates.

-

0 = Angle of Rotation

Rotation Formula */ *
x1 = xxcog(B) - yxsin(8)
y1 =xxsin(8) + yxcos(0) |

In the exampleto theright the g 7
shapeis at coordinates (1,4). > _r
Letsfind the coordinates if we
rotated the shape 60°.
\_

4,

5

x1 = 1xc0s(60) - 4xsin(60) \
y1 = 1xsin(60) + 4xcos(60)
x1=1x0.5 - 4x0.87
y1=1x0.87 + 4%0.5
x1=0.5-3.48
yl1=0.87+2
x1=-2.98
yl=2.87
. Looking at shape, we can see
that rotated 60° it isat (-2.98 ,

2.87). )

1) Rotate the shape-154° around the point ~ 2)  Rotate the shape 182° around the point

(0,0). (0,0).

7.0
¢

3) Rotate the shape 204° around the point 4) Rotate the shape -127° around the point

(0,0). (0,0).

"E[>:)/ -

(7.3)
%

=

N

w

>

Answers

(4.9,-1.3)

(-6.9,4.2)

(-5.2,5.6)

(-4.4,-0.8)
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C:h Rotating Around Axis Name:

Rotate each shape. Answer asthe new coordinates.

\_ 2.87).

/ 1. x1=1xcos(60) - 4xsi n(6cm
6 = Angle of Rotation y1 = 1xsin(60) + 4xcos(60)
. [ [ ]. * 2. x1=1x0.5 - 4x0.87
Rotation Formula _“ N y1l = 1x0.87 + 4x0.5
x1 = xxcos(B) - yxsin(8) 3 3 x1 =05 - 3.48
y1 = xxsin(@) + yxcos(8) ; : ' y1=087+2
In the example to the right the ~ 7 4 x1=-2.98
shapeisat coordinates (1,4). S I o S ZET
Lets find the coordinates if we 5. Looking at shape, we can see
rotated the shape 60°. that rotated 60° it isat (-2.98 ,

J

Answers

1) Rotate the shape 99° around the point 2) Rotate the shape -40° around the point
(0.0). (0,0).

3) Rotate the shape -292° around thepoint ~ 4) Rotate the shape 45° around the point
(0.0). (0,0).
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ﬂh Rotating Around Axis

Name. Answer Key

Rotate each shape. Answer asthe new coordinates.

-

0 = Angle of Rotation

Rotation Formula */ *
x1 = xxcog(B) - yxsin(8)
y1 =xxsin(8) + yxcos(0) |

In the exampleto theright the g 7
shapeis at coordinates (1,4). > _r
Letsfind the coordinates if we
rotated the shape 60°.
\_

4,

5

x1 = 1xc0s(60) - 4xsin(60) \
y1 = 1xsin(60) + 4xcos(60)
x1=1x0.5 - 4x0.87
y1=1x0.87 + 4%0.5
x1=0.5-3.48
yl1=0.87+2
x1=-2.98
yl=2.87
. Looking at shape, we can see
that rotated 60° it isat (-2.98 ,

2.87). )

1) Rotate the shape 99° around the point 2) Rotate the shape -40° around the point

(9. (0,0).
e do T
i o
g
---------- P

3) Rotate the shape -292° around thepoint ~ 4) Rotate the shape 45° around the point

(0,0). (0,0).

(&1,

=

N

w

>

Answers

(6.3,-5)

(9.9,-0.9)

(5.6,-3.1)

(-0.7,2.1)
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ﬂh Rotating Around Axis Name:

Rotate each shape. Answer asthe new coordinates.

/ 1. x1=1xcos(60) - 4xsi n(GCm
0 = Angle of Rotation y1 = 1xsin(60) + 4xcos(60)
. [ [ ]. * 2. x1=1x0.5 - 4x0.87
Rotation Formula _“ N y1l = 1x0.87 + 4x0.5
x1 = xxcos(B) - yxsin(8) 3 3 x1 =05 - 3.48
y1 = xxsin(@) + yxcos(8) ; : ' y1=087+2
In the example to the right the ~ . 4 x1=-2.98
shapeisat coordinates (1,4). S I o S ZET
Lets find the coordinates if we 5. Looking at shape, we can see
rotated the shape 60°. that rotated 60° it isat (-2.98 ,

Answers

\_ 2.87). )

1) Rotate the shape -53° around the point 2) Rotate the shape 235° around the point
(0.0). (0,0).

3) Rotate the shape 37° around the point 4) Rotate the shape -129° around the point
(0.0). (0,0).
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ﬂh Rotating Around Axis Name:. Answer Key

Rotate each shape. Answer asthe new coordinates. Answers
/ 1. x1=1xcos(60) - 4xsi n(GCm
0 = Angle of Rotation = 1xs
g [ y1 = 1xsin(60) + 4xcos(60) 1. (-4.8,-1.4)
. . * 2. x1=1x0.5 - 4x0.87
Rotation Formula _*" T y1=1x0.87 + 4x0.5
X1 = xxco3(6) - yxsin(9) : | 3. x1=05-348 2. (-1.8,6.1)
y1 =xxsin(8) + yxcos(0) : | y1=087+2
In the example to the right the s ; 4. x1 =_'2'98 3. (-6.2,-1.6)
shapeis at coordinates (1,4). NN P - YA=aEy
Lets find the coordinates if we 5. Looking at shape, we can see
rotated the shape 60°. that rotated 60° itisat (-2.98, ||| 4. (-1,4.4)

L 2.87). )

1) Rotate the shape -53° around the point 2) Rotate the shape 235° around the point
(0.0). (0,0).

(-4:-3)
[l

é6,2)
&

3) Rotate the shape 37° around the point 4) Rotate the shape -129° around the point
(0.0). (0,0).

(Z 2)
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C:h Rotating Around Axis Name:

Rotate each shape. Answer asthe new coordinates. Answers
/ _ 1. x1=1xcos(60) - 4xsi n(6cm
0 = Angle of Rotation y1 = 1xsin(60) + 4xcos(60) .
. N * 2. x1 = 1x0.5 - 4x0.87 '
Rotation Formula _‘/ < y1 = 1x0.87 + 4x05
X1 = xxcos(0) - yxsin(®) \ 3, x1=05-3.48 2
y1 = xxsin(8) + yxcos(0) : : y1= 087 +2
In the example to the right the - - 4. x1 =_'2-98 3
shapeis at coordinates (1,4). P - YA=aEy
Lets find the coordinates if we 5. Looking at shape, we can see
rotated the shape 60°. that rotated 60° it isat (-2.98 , 4,

\_ 2.87). )

1) Rotate the shape -91° around the point 2) Rotate the shape -189° around the point
(0.0). (0,0).

3) Rotate the shape -140° around thepoint ~ 4) Rotate the shape 202° around the point
(0.0). (0,0).
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ﬂh Rotating Around Axis

Name. Answer Key

Rotate each shape. Answer asthe new coordinates.

-

0 = Angle of Rotation

Rotation Formula */ *
x1 = xxcog(B) - yxsin(8)
y1 =xxsin(8) + yxcos(0) |

In the exampleto theright the g 7
shapeis at coordinates (1,4). > _r
Letsfind the coordinates if we
rotated the shape 60°.
\_

4,

5

x1 = 1xc0s(60) - 4xsin(60) \
y1 = 1xsin(60) + 4xcos(60)
x1=1x0.5 - 4x0.87
y1=1x0.87 + 4%0.5
x1=0.5-3.48
yl1=0.87+2
x1=-2.98
yl=2.87
. Looking at shape, we can see
that rotated 60° it isat (-2.98 ,

2.87). )

1) Rotate the shape -91° around the point 2) Rotate the shape -189° around the point

(0,0). (0,0).

(-2£6)

3) Rotate the shape -140° around thepoint ~ 4) Rotate the shape 202° around the point

(0,0). (0,0).

@

(61)

=

N

w

>

Answers

(6.9,4.1)

(2.9,-5.6)

(2.9,-1.2)

(-5.2,3.2)
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C:h Rotating Around Axis Name:

Rotate each shape. Answer asthe new coordinates.

\_ 2.87).

/ 1. x1=1xcos(60) - 4xsi n(6cm
6 = Angle of Rotation y1 = 1xsin(60) + 4xcos(60)
. [ [ ]. * 2. x1=1x0.5 - 4x0.87
Rotation Formula _“ N y1l = 1x0.87 + 4x0.5
x1 = xxcos(B) - yxsin(8) 3 3 x1 =05 - 3.48
y1 = xxsin(@) + yxcos(8) ; : ' y1=087+2
In the example to the right the ~ 7 4 x1=-2.98
shapeisat coordinates (1,4). S I o S ZET
Lets find the coordinates if we 5. Looking at shape, we can see
rotated the shape 60°. that rotated 60° it isat (-2.98 ,

J

Answers

1) Rotate the shape 91° around the point 2) Rotate the shape -105° around the point
(0.0). (0,0).

3) Rotate the shape 248° around the point 4) Rotate the shape 140° around the point
(0.0). (0,0).
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ﬂh Rotating Around Axis

Name. Answer Key

Rotate each shape. Answer asthe new coordinates.

-

0 = Angle of Rotation

Rotation Formula */ *
x1 = xxcog(B) - yxsin(8)
y1 =xxsin(8) + yxcos(0) |

In the exampleto theright the g 7
shapeis at coordinates (1,4). > _r
Letsfind the coordinates if we
rotated the shape 60°.
\_

4,

5

x1 = 1xc0s(60) - 4xsin(60) \
y1 = 1xsin(60) + 4xcos(60)
x1=1x0.5 - 4x0.87
y1=1x0.87 + 4%0.5
x1=0.5-3.48
yl1=0.87+2
x1=-2.98
yl=2.87
. Looking at shape, we can see
that rotated 60° it isat (-2.98 ,

2.87). )

1) Rotate the shape 91° around the point 2) Rotate the shape -105° around the point

(0,0). (0,0).

('4:-'-7') """" -
o

3) Rotate the shape 248° around the point 4) Rotate the shape 140° around the point

(0,0). (0,0).

-4:-3
-

72

=

N

w

>

Answers

(7.1,3.9)

(5,4.5)

(0.4,4.5)

(5,0.3)
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C:h Rotating Around Axis Name:

Rotate each shape. Answer asthe new coordinates. Answers
/ _ 1. x1=1xcos(60) - 4xsi n(6cm
0 = Angle of Rotation y1 = 1xsin(60) + 4xcos(60) .
. N * 2. x1 = 1x0.5 - 4x0.87 '
Rotation Formula _‘/ < y1 = 1x0.87 + 4x05
X1 = xxcos(0) - yxsin(®) \ 3, x1=05-3.48 2
y1 = xxsin(8) + yxcos(0) : : y1= 087 +2
In the example to the right the - - 4. x1 =_'2-98 3
shapeis at coordinates (1,4). P - YA=aEy
Lets find the coordinates if we 5. Looking at shape, we can see
rotated the shape 60°. that rotated 60° it isat (-2.98 , 4,

\_ 2.87). )

1) Rotate the shape 255° around the point 2) Rotate the shape 95° around the point
(0.0). (0,0).

3) Rotate the shape -55° around the point 4) Rotate the shape -34° around the point
(0.0). (0,0).

=S}
BJ
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ﬂh Rotating Around Axis

Name. Answer Key

Rotate each shape. Answer asthe new coordinates.

-

0 = Angle of Rotation

Rotation Formula */ *
x1 = xxcog(B) - yxsin(8)
y1 =xxsin(8) + yxcos(0) |

In the exampleto theright the g 7
shapeis at coordinates (1,4). > _r
Letsfind the coordinates if we
rotated the shape 60°.
\_

4,

5.

x1 = 1xc0s(60) - 4xsin(60) \
y1 = 1xsin(60) + 4xcos(60)
x1=1x0.5 - 4x0.87
y1=1x0.87 + 4%0.5
x1=0.5-3.48
yl1=0.87+2
x1=-2.98
yl=2.87
Looking at shape, we can see
that rotated 60° it isat (-2.98 ,

2.87). )

1) Rotate the shape 255° around the point 2) Rotate the shape 95° around the point

(0,0). (0,0).
""""""" .| (6,-7)
0,
Lo las
Shre
L

3) Rotate the shape -55° around the point 4) Rotate the shape -34° around the point

(0,0). (0,0).

e

)

=

N

w

>

Answers

(2.6,1.7)

(6.5,-6.6)

(-6.3,3.2)

(1.3,6.9)

[ M ath ] www.CommonCoreSheets.com
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